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Specification Review

<Usecase3/5/13 >

Alternative Courses of EventsH{|A12] Issue

[Q2AEl CH| D} ${REQ|J} OfLl < A 22 A|AZ X7|3} SICH

Stage 2041
Priority High
Type Document

o1 -7t oA BP0 o ofH 3

O] A|CH/A| A QIX| WA|Z|X| 24t T OfTH A
Problem

LS AML— o

bt

O
Off ZIEH= =7|=ot OftH o |42 =
7 |=He| =X FAIE|X| BiS

LS =3-

Accept
<Use Case 3. Set Time>

=> Q1= 0f| CHBHA 1990-20302] HE| HA|

Accept
<Use Case 5. Set Timer>
=> 23:59:599| H| HA|
Reject
<Use Case 5. Set Timer>
=> Al, 22 278 7155IEt2 Use Casedi| BA|
Al, =2 518H?7t B=SIE = Reject
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<Usecase4/6/11/14/15 >

Ul M EA|Z|= 220 CHer 28 &

Stage 2041
Priority Low
Type Document
Sub Segment Displaydi|

<Use Case 4> RUN
<Use Case 6> WAIT
<Use Case 14> SET
Problemn <Use Case 15> ---
Main Segment Displaydi|

<Use Case 11> X7|=}=l A2t

Of EA[|L} Of0f Bior 2T GlS.

Reject
Sub Segment Display2| B2, S4XH A[HQ| HEHZ LIEHH
=>Timer2| B2, AErel JEH(RUN)2F X & SEH(WAIT)
=> Alarm2| AR, & 43t=l MEH(SET)2t H |§Ewg§f5_| AFER(---)
ArEXte| O[5l E &2| 2[5 Ulo]] LIEIL= H2 = 20425201 A
LtEFE.

20402 M p.36

Main Segment Display2| B2,

<Use Case 11. Reset Stopwatch>0f| 02 = X7|ztotCt af,



3 Cycle

Specification Review

<Usecase20/22/23 >

8 20| HEE|= A|Z2CHEH= B30 &t

Stage 2041
Priority High
Type Document

Problem | A|ZICH7} Of%H CHOIOIX| BA|E|X| 4.

Accept

22_Change Date

User

Evident
Turnip Calculator ModeG§oF B

(A) - Actor, (S) @ System

23_Alarm at High

MNone
Hidden
I.E gHo| |10 gHY mie| A|ZHCHO) EE |l Yghe| AJZHAM-9:00, PM-12:00)0] Sxj A|Z 2 ZHOH0E SHCL I

=> A|2HCHO| CHaH ets| HAl
[ A|ZHCH : AM(OAI-1241), PM(12A1-24A]) ]
[ 22F X|2F: AM 9A|, PM 124] ]
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System Testing

Category-Partition
Testing

Test Case = 168
Test Failed =0
Test Success = 168

Test M2&E = 100%

Pair Wise Testing

Test Case = 84
Test Failed =0
Test Success = 84

Test M&2& = 100%

Brute-Force

Testing
Test Case =6
Test Failed = 1

Test Success =5

lest H&E =83.3%
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Brute-Force Testing Issue

+ if(!clip.isactive()) {

clip.setFramePosition(@);
clip.start();

-
L ¥

——

sleep(5888);
Test Case Test Result } catch (Exception e) {

e.printStackTrace();

Timer?} A|2t0] OX2} |0 Beep ¥

ot g2 Al 2, e sron();

Fail
5X O|LHZ CA| EFO|HE Resetdt
T TimerAl= 7| &0 sleep(5000)2 2 52£7F Clip AH/H

reqBeep()0tCt 2C| 20 B
» sleepO 2 QIsH A2 Beep AHAH Q=

=™ Z setFramePositionZ} startZ Clip {4
(setFramePosition(0) : XA X E HESL =)
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Static Analysis

Dir TurnipCalc.java

RandomELC} QHXSE SecureRandomat
Review

St 0| ML

Code TCE Az 0= T4 Mot ofdef 88| X$= A0
Alarm java 45 Minor =
Smeli st
Code o
Buzzer java idd Major |static B8 dass PIAHAZ HE 7Hs8™ f@sict
mel
Code : ES
Buzzer java e Major | static B8 non-static 2 CS00A ASS Y fHESIC
Smel
- Code - o of 2 ol
Buzzer java 33 el Minor try-catchE §Ol £20|3 Mo| E80| gojuct
me
. A8 EIX| B WX
’ Code
Controller java 1 Smel Minor javalang reflect UndeclaredThrowableException)?t  import
me :
HojuG
) 4042101004 BYOHUY alammf)) 52 20| 2T ME
Controller java | 405 Bug Major Qs
g a4 Code new Integerin) ¥ JEX A8 A8S8E A RO
GUljava Minor Vi .
~97 Smell valueOfE A8 SHE 20| oj22 gl ¥ o 2830
) modeindicator f E| segPath2TX|2] AW YIS 'L?OI
- 108 Code .
GUlLjava Minor AT PHOJAIO BT EHD MOl B0 8 XY P
~11 - il
| o WRE 2ol FG
Code
GUl java 157 Minor | catch20] H|0jRUE A2 ATEX B
Smell
Code - ‘ C P
TurnipCalc java 6 S Minor | switch&0f default case”?}t Q1E A& AFSX B&d
mel
: Security Random®BCh HMP SecureRandomil getinstance¥ £ €
TurnipCalc java 63 Mmnor 3

Hotspot

8 A8sd AZG

Reject

£ 0= 2L Aleh P80 M
_I

A Qe 2 AL 28l RandomZfS Csl=.

|01 AMEEIX| &
Ol= 2tsoli=

W“J—f SHASIH Zd5k= =X 8l

27| =0l

L
SecureRandomO| 7}XI getinstance HAEE AR




I b

OOAD Review




3 Cycle

OOAD Review

=ct2 0I5 o
- Microsoft TeamsE 0|89t 28 EA &Y .
- AR Ezre 3t 3|0|(42 28U EE] 62 22 o
UNLX| 56UZH TA[ZHEHA 32E35} + Zoom) =

- 2 HI_-I 9_| 9 ]I |. | D | %—DI @  [A2IRejected Issues.docx

B stage1000.xlsx

B stage2040.xlsx

CTIP 2+Y

2040seqDiagram.mdj

B [AllT2]stage1000_v2.pptx

a Glt Commlt 100§-| B tage2030xlsx

- Master, dev HEliX| 22| £t 2|H| ™ 22| Q] B atsagetons. 2

285}

oot

=
- SonarQubeZ 53t static analysis 4

Commits on Jun 5, 2020

regCancellndicate() error not solved

yein-lee committed 17 days ago

edit complete turnip Calc alarm. fix Timekeeping next unit

mbin96 committed 17 days ago

implementation turnip calc alarm

mbin96 committed 17 days ago

Timer 28/ 4

1 E committed 17 days ago

AlarmO| TimeKeeping HZ814 =3

2 E committed 17 days ago

implementation Turnip Calc

mbin96 committed 18 days ago

update gitignore

mbin96 committed 18 days ago

setMode status gui error rey

yein-lee committed 1

controller run() stopwat

yein-lee committed 18
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